3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)




>
> &=EH: -192

= (11-13) (11 + 13)
(19— 21) (19 + 21)

= —2(24 + 32 + 40)

= -192

+

(15— 17) (15 4 17)

+




3. a+b=2,a*-b*=10 4 W, a-b 9 g Ttk

a’>-b?>=(a+b)a-b)=2x(a-b)=10
“a-b=5




4. OFA (x+y)(x+y-3z) - 422 o] F AA O Hog Qi
]IH 1

F A4 e

@2x+2y—3z @ 2x-2y-3z ® 2x-4y+ 3z

@ 2x+3y-2z ® 2x+2y+3z

B

(x+y)=A=std

A(A - 3z) — 422 = A% — 3Az - 47
=(A-42)(A+2)
=x+y-42)(x+y+2z)

(xty-4)+ (x+y+2)=2x+2y-32




5. Q15Bofet x4y =31 x—y=11 L 0Lk (x2 - dx + 4) -
(y* -2y + 1) 9 = Fstofet,

> E:
>3

o
_

8

(¥ —dx+4)- (> -2y +1)
=(x-2?%-(y-1)
={(>:-2)+-D}{>x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1) =0.1x10 = 1 ©]t}.




6. 2 -2oy- 14y Aot

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)




7.

(a—2b-3)(a+2b+3) = ANt A2 &2 A2
@ a?24+4b%2-12b-9 @ a?—-4b%2-12b+9
® a2 -4b2+12b+9 @a2—4b2—12b—9

® a®+4b>+12b-9

B

2b+ 3 =A 2} 2| gtH

(a=A)(a+A) =a? - A?
=a?-(2b+3)>
=a® - (40 +12b+9)
=a?—4b*>-12b-9




8.

the Ao A + B o] ghe FHA?

(3x-1)*-9(2x+3)?
= (Ax+38)(-3x-B)

D 14 @ 16 ® 17 @ 18

@

B

3x—1=a, 2x+3 =02t 5H

a®> - 9b* = (a+ 3b)(a — 3b)

= {(3x— 1)+ 3(2x + 3)H(3x — 1) — 3(2x + 3)}
= (9x + 8)(-3x — 10)

A=9 B=10

. A+B=19




9.  (2a-3b)% - (4a - 5b)% = 4(ma + nb)(b — pa) L W, mn - p ] =
ToHH?

O -11 ® 13 @—13 @ 11 ® -2

B ,

2a-3b =X, da—5b = Y & X|3Fs}w
X2-Y2=(X+Y)(X-Y)

= (2a — 3b + 4a — 5b)(2a — 3b — 4a + 5b)
= (6a — 8b)(—2a + 2b)

= 4(3a —4b)(b - a)

om=3, n=-4, p=1

T mn—p=-12-1=-13




)
x+3)(x-3)(x+2)(x-2)
)

(x—-2)(x% + 3)

(x* —4)(x®* —1) — 40 = x* - 5x% — 36
— (2 -9)(x+4)
= (x+3)(x—3)(x* +4)




11, TR A2+ (<254 3)x—(3y-1)(y+2) & Ealioto] e A4S
RERCERL

@2x—2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3

24+ (=2y+3)x-3y-1)(y+2)
={x-By-D}{x+(+2)}
=(x-3y+1)(x+y+2)

wrahA] G4 QQ4=0] 2 2x — 2y + 3




12.

@® 57x? cm? @ nx(x+5)cm?

@nx(x +10) cm? @ nx(2x+5)cm?

® nx(2x + 10) cm?

o] Zol7t 5em Q1 YollA §12]52] Zol& xem

a

r
il
il
iy
=

~&B

(St 5-2] Zoj7F 5em 1 €] Hol)

=7 x 52 = 257( cm?)

(FF2] 59 Zo]& xem WE &9 €9 Wol)

=ax(x+5)?2

wat A, Soldt Yol

ax (x+5)% - 251 = n(x% + 10x + 25) — 257
= 7x? 4+ 107x + 257 — 257
= nx(x + 10)( cm?)




A

13. o & Ae?

oo
Tlo
tlo
ru

= Rt

@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)




14.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




o g Ffolet,

2_24+3

15. a=1+29 0, ¢

242

ul
&

KO

(@>-2a+1)+2

a?-2a+3

Qo =l
+o

o~ Il
Lol T
Il Il Il




